	25.
	Identify the axis of symmetry, create a suitable table of values, then sketch the graph (including the axis of symmetry).

y = –x2 + 3x – 3

Here, a = -1, b = 3, c = -3
The axis of symmetry is x = -b/2a = -3 (-2) = 1.5
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	x
	y

	-8
	-91

	-7.5
	-81.75

	-7
	-73

	-6.5
	-64.75

	-6
	-57

	-5.5
	-49.75

	-5
	-43

	-4.5
	-36.75

	-4
	-31

	-3.5
	-25.75

	-3
	-21

	-2.5
	-16.75

	-2
	-13

	-1.5
	-9.75

	-1
	-7

	-0.5
	-4.75

	0
	-3

	0.5
	-1.75

	1
	-1

	1.5
	-0.75

	2
	-1

	2.5
	-1.75

	3
	-3

	3.5
	-4.75

	4
	-7

	4.5
	-9.75

	5
	-13

	5.5
	-16.75

	6
	-21

	6.5
	-25.75

	7
	-31

	7.5
	-36.75

	8
	-43

	8.5
	-49.75

	9
	-57

	9.5
	-64.75

	10
	-73

	10.5
	-81.75

	11
	-91


